[image: image1.png]Stephen’s earnings are calculated
according to the formula

Earnings = 7t + d_
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where ¢ is the number of hours Stephen
works and d is the dollar value of the
clothes he sells in the week.

One week, Stephen works for 15 h and
sells $980 worth of clothes. How much
does he earn?



[image: image2.png]Study the distance chart below.

&

&

*
Distance Chart ®

Sy

Calgary 128 A é\3§ &
Columbia Icefield | 188 | 316 N R
Edmonton 423[ 205 461] ¢
Lake Louise 58 [ 186 [ 130 [ 481]

Distances are shown in kilometres.

Tim drives from Edmonton to the
Columbia Icefield at an average speed

of 60 km/h.

About how long does his trip take?



[image: image3.png]Study the graph below, which shows how
the percent of the Canadian population
that is non-farm rural has varied over
time.
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Which statement about the percent is
true?

a It stayed constant from 1951
to 1991.

b It increased from 1966 to 1976.

¢ It decreased at a constant rate
from 1961 to 1981.

d It increased at a constant rate
from 1951 to 1971.
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